EARAROBEEIERT — 2 N— IBISH —F

2014558220 (k) 3EIFIRI2H

m,s\ - CEEEER & YIS R3K (w8 | imEmml - |5 5) oo 8
[A&4£] 1 7% :500,000  ~ 23#&:100,000  ~ 33#&:75000 M ~ 43#%:50,0008”  53&:25,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S U4 [SEiE 15, ~ 3| - Kbt (i)
ilglg| 7o/ 21% i 3 T 1(1_5)2 6-8 39.3 2 (4_820) RAE B8
L= NZZXY>TF— BNA2LT =2 pliksEie]
I ZHS i 3 | RAEA 1:15.4 8-5 39.4| — 7 458 | #AFIBL (AbimiE)
] 4| IxYZFx3 53.0 (3/4) (g) | A) EEHE
Z:xyaNdaly— B:5XMIUF> EHHE
S, s B3 | B 1:15.6 4-4 40.1| — 5 494 | REREL (biEE)
3l7l71>¥>7>ara 55.0 ) g | [B) RS
L:772VIT7 B:214%3I1-X K7 7 — L
3 | BIEKTT 1:16.0 2-2 40.8| — 3 500 | MARE (LiEE)
4 2|/ —A€7+1—0O " 56.0 @) (+18) SIIESR -
LNSHEAZRI Y= BhH-UT LI AA Al Rl
o— BRARS 2 :16. — . - A EEM (AbimE)
5 6| Fr7rre—O— 3 s 1(11/62)1 2-2 40.9 1 (5_126) HrEd 3E]
¥+ T7roR70—7 B:nt/enqd Eibitse]
i $ S 4 3 | WTHH 1:16.2 5-5 40.5| — 8 470 | RER (dtimiE)
6lglg|F—TFF—dNVYT 53.0 (1/2) (-12) | BIIEMF
R:xFa1zgr—2 B:IZETVya FLFENRB
. i 3 | EIEE 1:16.3 6-5 40.4| — 6 448 | BORE (biEE)
715|5 LT TTA 54.0 (3/4) (0) 31f 7 B — BB =
RV THTIA R BELT A Evzie]
N N 4 3 | ATEE 1:16.4 1-1 M4 — 4 468 | REE (dtimiE)
gl1l1|YV¥v—IbH—nN— 53.0 (1/2) (-10) | (B) HEAHE
L:THAFUS v —I BivRNEH—N— HEAKIS
5, I >3 | FEsk A7, - 5| - BRI (i)
N - REEAS O T e A L e
R:TFZAT7 X244 B:o=JLy vV T E@EXL YK
® I—F—@EBIERL
13—-7-
23—7F—
3T—7— 1,(2,6),7,9,(5,8),4,3
41—F— 1,(2,6),7,(4,5,9),8,3
[ RN
B 8 480 794K 4-8 1,350M & 4-8 5,090 &R 4-7-8 8,380M
BB 8 1909 7-8 680 B E 4-8 5,370M EE 8-4-7 47,490
4 610/ 4-7 1,810 B H 8-4 7,650M
7 1809

ABICOVWTRDTEEERROODE. TR LIV,




